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ParNew GC

Tyoung = Tstack_scan T Tcard_scan T To\d_scan T Tcopy

Collect roots for young GC
Scan stack traces Collect roots for young GC

Scan dirty pages in old space Clean cards
Recursive copy of live objects (only live objects are traversed)
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[GC (CMS Initial Mark) [1}CMS—-initial-mark] 3941842K(6291456K)] 43149
Total time for which application threads were stopped: 0.0395261 secor

CMS-concurrent-mark-start]

CMS-concurrent-preclean-start]

|
[
[
[

CMS-concurrent-abortable-preclean-start]

CMS-concurrent-mark: ©.115/0.115 secs] [Times: user=0.80 sys=0.01, re¢

CMS-concurrent-preclean: 0.017/0.017 secs] [Times: user=0.05 sys=0.0(

preclean due to time 2017-01-25T21:00:53.860+0800: 1236921.690: [CMS-
[6c {CMS Final Remark] [YG occupancy: 1046353 K (5505024 K)]2017-01
3.951+0800: 1236921.782: [class unloading, 0.0666695 secs]2017-01-25T21
~6291456K)] 4988196K(11796480K), 0.1714246 secs] [Times: user=1.60 sys=0.

Total time for which application threads were stop
[CMS-concurrent-sweep-start]

Total time for which application threads were stop
Total time for which application threads were stop
Total time for which application threads were stop

0.1759287

0.0044414
0.0050080
0.0043149

secor
[CMS-concurrent-sweep: 4.746/4.760 secs] [Times: user=6.18 sys=0.16, |
[CMS-concurrent-reset-start]
[CMS-concurrent-reset: 0.020/0.020 secs] [Times: user=0.02 sys=0.00, |




A .me V‘ o

SA e 7 e
b
L
-
.y O.. o W %

%
%
03
%
R

4
[T

AWA N

L
L

o )
l_ / )
R
ARG 7
YK




e

A

o
~¢

O..J, RESRTA

%

%
%
03
%
R







irectBuffer

mpD

A=

/

rla

70

/

dese
serial

FEIRSE

;

I

g

R
,sq,.xmw\;
5

IINCRL

rjEdeﬂE

S
A




Ollel GIC

\

s

,f\_z
7

AR RO a3 PNl
L) 2 IR ; D 5 .
255 3 g v ? 2




\ / y ;
- /Q:\H)

|
Val
=N

I

5|

r)T-L A I N O

D)

D
Ny W

D)

)
+
=
gl
i
)
+
—







e

A

o
~¢

O..J, RESRTA

%

%
%
03
%
R




lve

Ime To L

T

N

\

H

RPN
X

Y

o 2
J

==

dead

\Wileit=le




e
o

¥
ol

oA

o
S

e 2 et
.
.1..‘0..4, V5

%

T

iNntern

x String






=)

o

5




